93 5 2 100
1 2 ( ) 3
( 60 )
1.0) (A) (B)
©) (D)
B
2() 16 19328 6 4 512 bytes
(A) 9.4GB (B) 8.5GB (C) 6.5GB (D) 4.3GB
3.0) (103)10  (A) (1100011)2 (B) (251) (C) (77)s (D) (55)16
4.() (35)10(91)10 (A)11000110
(B) 10101010 (C) 11001000 (D) 11001010
5.() BASIC "@"
X=100
WHILEX >1
X=X\2
PRINT "@"
WEND
(A)4(B)5(C)6(D)7
6.() IP IP (A)1(B)2(C)3(D)4
7.0) T1 (A)T1 1.54Mbps (B) T1 28 (C)T1 T3
(D)
8.() ? (A) (B) ©) (D)
9.0) (1S0) Osl (A) (B) ©) (D)
10.() 41 3 7 12 37 4]
45 62 69 80(A)4 (B)S5 (C6 (D)7
11.() ABC (A) 2748 (B) 2788 (C) 2612 (D) 2642
12.() (A) RAM (B) ROM (C) BIOS (D)
CPU
13.() (A) Cache (B) Register (C) Hard Disk (D) RAM
14.() (A) Linked List (B) Queue (C) Stack (D) Tree
15.() (A) Pchome (B) Yahoo (C) Google (D) EBay
16.() (A) (B) © (D)
17.() / (A) TCPIP(B) HTTP(C) RTP(D) FTP
18.() (A) BMP (B) GIF (C) JPG (D) TIFF




19.()

20.()
(10
1
2.
(al(b-c+a))* (e-a)* C

alb-ct+d*e-a*c

a* (b+c)/d-g

4. C/ C++

40

(A) Class (B) Inheritance (C) Method (D) Recursive

(A) PNG (B) GSM (C) LPC (D) ADPCM

)

(4, 15, 17, 26, 30, 46, 48, 56, 58, 82, 90, 95)

/
A001 60
A001 40
A001 80
A002 60
A002 30
A003 40
A003 40
A004 50
A005 70
A005 30
A005 80
A006 50
100 100




